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x?=2x+4.
x-2
(1) Define the domain. (4 points)
(2) Find the intercepts. (4 points)
(3) Find the relative extrema. (4 points)

1. Analysis the graph of f(x)=

(4) Find the asymptotes. (4 points)
(5) Find the inflection points. (4 points)

2. Find Ixs Inxdk . (10 points)
1

3. Compute the exact value then use the Simpson’s Rule to approximate the value of the definite
integral j 7(x4 + l)dx for »n=4.Round your answers to four decimal places. (10 points)
. 0 .

The Simpson’s Rule: If f is continuous on [a,b], then

b i _ . )
Jf(X)dxz(b3naJ[f(xo)+4f(x1)+2f(x2)+4f(x3)+---+4f(xn_1)+f(x,,)]

4. Sketch and find the area of the region bounded by the graph of f(x)=3x’-x*-10x and

g(x) =—=x* +2x. (10 points)
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5.

6. If "rf(x)dx=1 , .J'bf(x)dx=2 , ‘[;g(x)dx=4 , and J”jg(x)dx=—5 , -then calculate

Decide whether the following series converges or diverges?
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ma 2n '+l

(2) i%/_ (3 points)

n=ln n

. (3 points)

3) i[—%} N points).
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4 22— (5 points)

n=0 n

Lc[.”f (x)-4g(x)dx]. (10 points)

1 el ». 2.2
Find J‘ J. x*ye*” dxdy . (10 points)
0 90 .

Let f and g be functions differentiable on the interval (0, 5) with the following values for

the functions and their derivatives:

x 1 2 3 4
f(x) 1 3 4 2
f'(x) 1 2 3 4
g(x) 2 4 1 3
g'(x) 3 1 4 2

Determine the derivative of the composite function g(f(x)) at x =2. (10 points)
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